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QUESTION 1

An organization implementing Supplier Qualification management has multiple procurement business units: PR BU1,
PR BU2, and PR BU3. The Corporate dead office (CORP BU) is also defined as one of the procurement business
units. 

The organization wants to maintain and manage the Qualification area-A for use by all the procurement business units,
but wants the Qualification area-B to be used only by CORP BU and PR BU1. 

Identify two setups to fulfill this requirement. (Choose two.) 

A. Create the question in CORP BU and select the "Global" check box. 

B. Create the Qualification area-A in CORP BU and select the "Global" check box. 

C. Create the Qualification area-B in CORP BU and select the "Global" check box. 

D. Create the Qualification area-B in CORP BU and select PR BU1. 

E. Create the Qualification area-A in PR BU2 and select PR BU3. 

Correct Answer: BD 

 

QUESTION 2

During Cloud procurement implementation, your customer has a requirement to ensure that all purchasing document
must go through budgetary control and the purchasing transaction must be stopped from processing if the funds are
unavailable. 

Identify the configuration required to achieve this requirement. 

A. The budget must be set up with control level as Advisory. 

B. The budget must be set up with control level as Absolute. 

C. The budget must be set up with control level as Track. 

D. Select the "enforce budget" check box under the Configure Procurement Business Function. 

Correct Answer: B 

 

QUESTION 3

In Self Service Procurement, a user is not able to search for one of the inventory items. Identify three configuration
issues that could be causing this problem. (Choose three.) 

A. The particular item is not defined as a `Transactable\\' item in PIM. 

B. The particular item is defined as "BOM Enabled\\' in PIM. 

C. The particular item is not part of any Procurement catalog. 
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D. The particular item has not been marked as a `Purchased\\' item within the Purchasing operational attribute group. 

E. The particular item does not belong to any Purchasing Category. 

Correct Answer: CDE 

 

QUESTION 4

Your customer wants to configure six BUs: five Requisitioning BUs and one BU configured as a shared Procurement BU
with only the Procurement function enabled. 

How will you define the relationship between the Requisitioning BUs and the Procurement BU? 

A. The Procurement BU must be assigned with the Requisitioning business function in order for it to be a shared
services center. 

B. The Payables business function must be assigned in addition to the Procurement business function. 

C. The Procurement BU needs to be configured as a service provider to the Requisitioning BUs. 

D. Intercompany transactions need to be defined between the Requisitioning BUs and the Procurement BU. 

Correct Answer: C 

 

QUESTION 5

An automobile parts manufacturer has decided to implement only the Cloud Purchasing product from the Oracle
Procurement Cloud pillar. Which setup component will not be required for this implementation? 

A. Procurement Agents 

B. Procurement Business Function 

C. Document Styles 

D. Negotiation template 

E. Purchasing Line Types 

Correct Answer: D 
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